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2M: 83
HH: HPLCAS
ool ASHARN BAHY =X CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SYE SFHEE Hel 27,800 32,000 A 4,200
202 O4dl 21,000 25,000 A4,000
01 = LH 4 Hi 21,000 25,000 A4,000
CEEE-E et 10,000
OBANY J2Fx 11,000
203 ¥ S =&l 5,000 5,000 0
03 Al =AY 2= 5,000 5,000 0
CEEEEPE-EES] 5,000
301 LEXZ 1,800 2,000 A 200
09 HALAHIX RS 1,800 2,000 A 200
OEZ=Z0F AL & 9IRS A 1,800
MEtA SMEd X d 989,000 800,000 189,000
HEtA sMLE ZI|I2E 189,000 0 189,000
AU 2HMHAS (SHEEXH) 9,000 0 9,000
308 XX EHH SOl A 9,000 0 9,000
01 HIXNHHBNEES 9,000 0 9,000
OXHIHPAMME 2 9,000
Z2ET I SIESEI} EF 80,000 0 80,000
207 RO 80,000 0 80,000
01 A3 39l 80,000 0 80,000
OZ3LE L3I0l 3FSHI &Y 80,000
EBEEHAH XNGEHEAMY FI(IZIAFXHA) 100,000 0 100,000
307 21201 A 100,000 0 100,000
02 QB AAHEX 100,000 0 100,000
OZEHHH XNGHEAY =X 100,000
3 MICEA Y XI& 800,000 800,000 0
EERaE 800,000 800,000 0
307 21201 A 800,000 800,000 0
04 DIZHHALALSE E X 800,000 800,000 0
OFHIZH 2021 800,000
tolgd 26 38,639,013 24,267,506 14,371,507
= 31,541,658
< 7,097,355
QIS AL 2el 38,639,013 24,267,506 14,371,507
= 31,541,658
< 7,097,355
E=SE HHESAE 22 9,700 15,000 A5,300
202 O4dl 7,000 12,000 A5,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 7,000 12,000 5,000
OHiEZZx NEEZ 2 UJAPRFA 7,000
301 LA F 2,700 3,000 A 300
09 #HALAHIXI &3 2,700 3,000 A 300
OL+S2 HHEMLE JI=XE 2,700
SEZEYULIEAYS 2 3,100 4,400 A 1,300
201 et 3,100 4,400 A 1,300
01 At 22l 3,100 4,400 A 1,300
OHI=ZHZRA 29 3,100
AA2 AHE YXAIE XA (=1) 4,588,000 6,051,200 A 1,463,200
= 3,700,000
< 888,000
403 UHXSHHS =0l & 4,588,000 6,051,200 A 1,463,200
= 3,700,000
< 888,000
01 HXSHMA2E X 4,588,000 6,051,200 A 1,463,200
OYXANE EXXNNA S 4,588,000
= 3,700,000
< 888,000
OIMYX 3R (EE) =H22(21) 98,900 83,850 15,050
= 64,500
< 34,400
403 MtXISHHE X201 & 55,900 83,850 A 27,950
= 43,000
< 12,900
01 X SHHAN2E= 55,900 83,850 A 27,950
OEE ¢ 55,900
= 43,000
< 12,900
405 XHobF S HI 43,000 0 43,000
= 21,500
< 21,500
01 HatH ESFH S 43,000 0 43,000
otEE 7¢ 43,000
= 21,500
< 21,500
oF ANENSHAEI AXXNE AS(=2) 35,550 0 35,550
= 31,500
< 4,050
403 MtXISHHE A0l & 35,550 0 35,550
= 31,500
= 4,050
01 XM A=2EE 35,550 0 35,550




2M: 83
BH: |8y 2
Chel: QU E A& 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYAF ANEXSMHAEX XX 35,550
= 31,500
< 4,050
SHQLIALANAMA 2ERZ(21) 18,400 0 18,400
= 16,000
= 2,400
403 MtXISHHE X201 E 18,400 0 18,400
= 16,000
< 2,400
01 AXSHMA=2EE 18,400 0 18,400
O+Z2HZAMAH 2=E2Y 18,400
= 16,000
< 2,400
OASX sE® =8 33,500 47,000 A 13,500
201 Let24d] 30,100 43,000 A 12,900
01 At 22/l 16,100 23,000 A 6,900
OQOIMZX e 16,100
03 &Ar2 I 14,000 20,000 A 6,000
OZAE OIMYR B3 E£23] 14,000
202 odl 3,400 4,000 A 600
01 = LH 4 1l 3,400 4,000 A 600
OOIMZHINNS=0F R2FA 3,400
FHAHSOISAE S 36,000 60,000 A 24,000
308 A EHHSOIA 36,000 60,000 A 24,000
01 AXSGHBLELS 36,000 60,000 A 24,000
OAUWIIIE SEZXNA & A&HMH 36,000
I8 MN=4A 29 BE3AMd(=22) 335,088 134,640 200,448
= 279,240
< 55,848
403 XIS E =0l & 335,088 134,640 200,448
= 279,240
< 55,848
01 HIXSHMA2E X 335,088 134,640 200,448
OJEE M=sAB2d 23 335,088
= 279,240
< 55,848
e QLAY HIIMNE(Z) 600,000 840,000 A240,000
= 600,000
403 XIS E X201 & 600,000 840,000 A 240,000
= 600,000
01 AXSHHMA2E = 600,000 840,000 A 240,000
OE2 MHIASHX M2ZAHS 600,000
= 600,000




2N
X ZH -
L= B
el

2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SUX HEINA M2 (=1) 28,702,215 12,551,054 16,151, 161
= 23,613,058
& 5,089,157
308 XAHXIEHSOIA 28,702,215 12,551,054 16,151, 161
= 23,613,058
= 5,089,157
01 AIXSHMENMNEX= 28,702,215 12,551,054 16,151, 161
OLZE=HESX XJIHXA X 19,422,720
= 16, 185,600
=} 3,237,120
OZRANAsSA HANHZHEX &X 2,470,000
= 1,900,000
& 570,000
OLPG HXIJE X 9,045
= 6,958
& 2,087
OPM - NOXS Al M2 & X & X 263,250
= 202,500
= 60,750
OHAEIIAH WA H2UZEX AX 475,200
= 396,000
= 79,200
OAHAEI|AH AXWH X 4,039,200
= 3,366,000
== 673,200
OLPGSIE2 X Al X7 K& 2,022,800
= 1,556,000
&< 466,800
20| SextaFo LPGRH M3 X (=) 1,508,000 731,239 776,761
= 1,160,000
& 348,000
308 XX GHHM SO0l & 1,508,000 731,239 776,761
= 1,160,000
& 348,000
01 AIKISHBEMNEXZ 1,508,000 731,239 776,761
O0elo] S&xgk LPGRH &M& K& 1,508,000
= 1,160,000
o= 348,000
CERY SHAS S5cHet £X(2D) 130,000 735,980 A 605,980
= 100,000
= 30,000
308 MXISHMSOIA 130,000 0 130,000
= 100,000
= 30,000
01 HXHHIMNEEXTZ 130,000 0 130,000
OEt=It0e 8 XA 130,000
= 100,000




2M: 83
BH: |8y 2
Chel: QU E A& 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| = 30,000
OIMISHX SYHHHE OS2 AXAL (ZA)(22) 2,317,060 2,444,000 A 126,940
= 1,782,360
< 534,700
308 AHXIEHHSOIA 2,317,060 2,444,000 A 126,940
= 1,782,360
< 534,700
01 AXSGHBLEES 2,317,060 2,444,000 A 126,940
oZAeHE 29 2,317,060
= 1,782,360
< 534,700
OIMIHX SYHHE OS2 AXAS () (=22) 123,500 260,000 A 136,500
= 95,000
< 28,500
403 X SHHE A0l & 123,500 260,000 A 136,500
= 95,000
= 28,500
01 XM A=2E X 123,500 260,000 A 136,500
OZAEH +L 123,500
= 95,000
< 28,500
OIMEHX HAXE Zs2el(=2) 100,000 0 100,000
= 100,000
403 A X EHHS =0l A 100,000 0 100,000
= 100,000
01 X SHHX2E= 100,000 0 100,000
OO0IMZX HAXNSE HS2el 100,000
= 100,000
MEH JHA 42,939,279 42,967,987 N 28,708
= 29,853,230
< 13,086,049
HEH W= =X 8,802,629 8,753,387 49,242
= 8,076,730
< 725,899
HOI=22 ¢tEH Hel 374,800 531,000 A 156,200
201 £B-2dH| 5,000 5,000 0
02 =24l 5,000 5,000 0
Ost=HII=gal HalH| 5,000
202 o4dl 6,800 8,000 A1,200
01 = LH o4 1l 6,800 8,000 A1,200
OXNE=g dig ARFA 6,800
308 XtXIEHH SOl A 363,000 518,000 A 155,000
01 IXNHHBANEES 363,000 518,000 A 155,000




fN: 23
Hu: MEsZ N
S MEA HII2 EE2X™e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZFSIZAIN 294 363,000
SMIH 22 10,000 0 10,000
308 XXM SOl A 10,000 0 10,000
01 IXNHHBNEES 10,000 0 10,000
O=MZH 29 10,000
St& & ot MY D FE(=21) 597,014 589,114 7,900
= 529,000
< 68,014
308 XtXIEHH SOl A 597,014 0 597,014
= 529,000
< 68,014
01 X HHILEES 597,014 0 597,014
Oot& o= At 597,014
= 529,000
< 68,014
Hs2%2)I8 =HMde 23 (2HEX) 126,085 187,253 A61,168
403 XA SA=0l& 126,085 187,253 A61,168
02 SO 2SOICHSH A2 X 2| &AM I 126,085 187,253 A61,168
OsALYE, ST =HAE 223 126,085
SEHHYE =HEBAZ2 XA (=) 253,350 245,800 7,550
= 253,350
308 XXM SO0l A 253,350 245,800 7,550
= 253,350
01 IXNHHMBNEES 253,350 245,800 7,550
OsZEHHE =4l X& 253,350
= 253,350
SOt E XA (21) 357,000 390,750 A 33,750
= 210,000
= 147,000
403 XSS X201 & 357,000 390,750 A 33,750
= 210,000
< 147,000
01 XXM 22 = 357,000 390,750 A33,750
SZEHHE 3sEotd &5 357,000
= 210,000
< 147,000
SH0IE MK (21) 6,917,880 6,809,470 108,410
= 6,917,880
403 UHXSHHSA=0l& 6,917,880 6,809,470 108,410
= 6,917,880
01 XM A= E L 6,917,880 6,809,470 108,410
C==d0lE ™eldl & XA 6,917,880
= 6,917,880




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

S0IE AHEA(ZD) 166,500 0 166,500
= 166,500

403 UHXSHHSA=0l& 166,500 0 166,500
= 166,500

01 X SHHMA=E L 166,500 0 166,500
O=dIOIE AEHEZAL XI& 166,500
= 166,500

HIIS2MeANLES 34,136,650 34,214,600 ATT,950
= 21,776,500
< 12,360,150

MY I A2AE HEX(=1) 19,265,800 10,295,300 8,970,500
= 11,963,000
< 7,302,800

403 MHtXSHHSA=0l& 19,265,800 10,295,300 8,970,500
= 11,963,000
< 7,302,800

01 HXSHMA=2E X 19,265,800 10,295,300 8,970,500
oMY Il a2Ad &X 19,265,800
2 11,963,000
< 7,302,800

SIS H AR BHOIItASH Ar (= 12) 2,460,000 6,285,000 A 3,825,000
= 2,026,000
< 434,000

403 MRS E X201 E 2,460,000 6,285,000 A 3,825,000
= 2,026,000
< 434,000

01 XXM 22 = 2,460,000 6,285,000 A 3,825,000
ORINSEH AR BIOILILASE AFY 2,460,000
= 2,026,000
= 434,000

METHRS HEH X XS (22) 916,100 168,300 747,800
= 572,000
< 344,100

403 UHXSHHSA=0l& 916,100 168,300 747,800
= 572,000
= 344,100

01 HXEHMA=E X 916,100 168,300 747,800
OMEIAs=dEH &X 916,100
= 572,000
< 344,100

sHEHIIS™M2 AL Ex(=21) 861,000 2,650,000 A 1,789,000
= 231,000
< 630,000

403 MtXISHHE =0l & 861,000 2,650,000 A 1,789,000
= 231,000




2N

X{ XH -
S =

e HIISXHEAEES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 630,000

01 XIS A=Z2E X 861,000 2,650,000 A 1,789,000
OsHEZHIJISHEAIE &X 861,000
= 231,000
o= 630,000

Mee syotg 44X X (=21) 360,750 136,500 224,250
= 277,500
= 83,250

403 XX SRS R 20| & 360,750 136,500 224,250
= 277,500
& 83,250

01 MHXSHAHXNE2E X 360,750 136,500 224,250
OMEMY I 2clHiE HEAAE &X 360,750
= 277,500
& 83,250

MEHIIS HEAE X (=22D) 7,926,700 11,688,400 N3,761,700
= 5,120,000
& 2,806,700

403 XX SHHS K20 & 7,926,700 11,688,400 N3,761,700
= 5,120,000
= 2,806,700

01 IS A2 X 7,926,700 11,688,400 AN3,761,700
OMEHIIZS HEAYE AX 7,926,700
= 5,120,000
=} 2,806,700

SAEZSF HIIS HMelAld &X(=221) 1,046,300 2,563,400 A 1,517,100
= 587,000
& 459,300

403 XX SHHS K 20| & 1,046,300 2,563,400 A 1,517,100
= 587,000
& 459,300

01 XIS A =2E X 1,046,300 2,563,400 A 1,517,100
OSAMZER HJIIZ2 M2AE &K 1,046,300
= 587,000
= 459,300

HEAWUXES ZSAS(22) 1,300,000 0 1,300,000
= 1,000,000
o= 300,000

403 AIXSHME X201 N 1,300,000 0 1,300,000
= 1,000,000
=} 300,000

01 AIXISHHMA2E X 1,300,000 0 1,300,000
OXEAHNUHHXEIE =M 1,300,000
= 1,000,000
& 300,000




2N
X ZH -
L= B

el

&2
sRMARH
N&ItsE SHMY R8 =X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SEAMNE RN 2,100 3,000 A 900
XNEIss sy g4 F4 2,100 3,000 A 900
SHAMNY S5 MEIH X4 2,100 3,000 A 900
201 et d| 2,100 3,000 A 900
01 AR 22l ] 2,100 3,000 A 900
OBALY S4 U Hol5 29 2,100
ANHstAE N 10,377,500 7,940,122 2,437,378
= 6,273,000
== 4,104,500
[HEE BN U AL &S 2,672,700 4,906,000 N2,233,300
= 1,699,000
= 973,700
NAHSAE N 22| 160,900 207,000 AN46,100
202 044l 5,900 7,000 A 1,100
01 2L I 5,900 7,000 A 1,100
OXNHEAHAZOF R2F&X 5,900
307 2iz2to| & 105,000 150,000 A 45,000
05 QIZ2tE 2 105,000 150,000 A 45,000
OXNHEESE 29 105,000
308 MXISHHMSOIA 50,000 50,000 0
01 IXHHIMNEXTS 50,000 50,000 0
OASH= MEHIAEXERE 22| 50,000
O2l0] MEHME 22t ZHAIY (HEH) 331,500 0 331,500
403 XX SHHS K201 A 331,500 0 331,500
01 XS A2E X 331,500 0 331,500
OAFT 20| MEHME =22 2N (XS 255,000
O 020l MEHMEZ22t X4 (M 76,500
2N 2ottt X4 (=21) 1,080,000 780,000 300,000
= 900,000
=} 180,000
403 XX SRS R 20| & 1,080,000 780,000 300,000
= 900,000
= 180,000
01 AXESH2E X 1,080,000 780,000 300,000
osAlet MY Myt 600,000
= 500,000
& 100,000
OEH <o MEfEYZ 240,000
= 200,000
o=} 40,000
OUUr(E2s) MEfeEZ 240,000




2M: 83
M QGHESEEN
el UoEd B8 2 Ad &3 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 200,000
< 40,000
DMZ MERHEN NEEE(21) 390,000 400,000 A 10,000
= 300,000
< 90,000
308 A EHSOIA 390,000 400,000 A 10,000
= 300,000
< 90,000
01 HIXNHHNBMNEELS 390,000 400,000 A 10,000
Ost=MZEMASAM T2 ] K| 390,000
= 300,000
< 90,000
MEl2ZXY XE & 24(=21) 284,700 284,700 0
= 219,000
< 65,700
308 XXM SOl A 284,700 284,700 0
= 219,000
< 65,700
01 AXHHBISEES 284,700 284,700 0
OME 22X XNE & 54 284,700
= 219,000
< 65,700
FAE SFANKTZ )Y 2H(71) 286,000 286,000 0
= 200,000
< 86,000
307 21201 A 286,000 286,000 0
= 200,000
= 86,000
02 IS AT ELS 286,000 286,000 0
O&FEAaY &zdus 2748 XA 286,000
= 200,000
< 86,000
EAE SITA sZ20Y 29(=21) 104,000 104,000 0
= 80,000
< 24,000
308 X EHH SOl A 104,000 104,000 0
= 80,000
< 24,000
01 HIXNHHBNEES 104,000 104,000 0
OgAZ BREZA sZ=28 X 104,000
= 80,000
< 24,000
MBOLd B2 & XHI)tss g™ =8 35,600 263,000 A 227,400
201 et 5,600 8,000 A 2,400
01 At 22l 5,600 8,000 A 2,400




2M: 83
M QGHESEEN
el NeIEE BF U AL =5 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
osgEs 22 5,600
307 21201 A 30,000 55,000 A 25,000
04 QIZFHALAIH B = 30,000 30,000 0
OCBDES 2l HAF 30,000
Orls - AlE B 22 7,656,000 2,985,322 4,670,678
= 4,574,000
< 3,082,000
OrM=E2 oo (=22) 976,000 1,077,322 A 101,322
= 790,000
< 186,000
403 MHXI S E X201 H 976,000 1,077,322 A 101,322
= 790,000
< 186,000
01 X HHMA=E L 976,000 1,077,322 A 101,322
O=ZS Iliohole 976,000
= 790,000
< 186,000
ASF XtEt SEt2l AXI(=12) 2,640,000 0 2,640,000
= 1,760,000
S 880,000
403 Mt SHHSA=0l& 2,640,000 0 2,640,000
= 1,760,000
< 880,000
01 X SHMA2E X 2,640,000 0 2,640,000
OASF Xttt 2Etel &X 2,640,000
= 1,760,000
= 880,000
ASF THS OFMSIGiXl AIZAE 2 A2l XI& (= 1,575,000 0 1,575,000
2)
= 1,050,000
= 525,000
308 A EHHSOIA 1,575,000 0 1,575,000
= 1,050,000
< 525,000
01 HIXNHHNBMNEELES 1,575,000 0 1,575,000
OANZHFH L AtMXel X 1,575,000
= 1,050,000
< 525,000
ASF HE X224z K& 525,000 0 525,000
308 XXM SO0l A 525,000 0 525,000
01 IXNHHBNEES 525,000 0 525,000
OASF Tie 22l2a=z K& 525,000
ASF CHS OFMSIEHXl AIZ2IHF % AtXMXMel K& 160,000 0 160,000
308 XtXIEHH SOl A 160,000 0 160,000




fN: 23
M QGHESEEN
Sl DS - A2 25 e (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 160,000 0 160,000
OASF THS OFrMSIEH Xl AIZIHF L AMXIX el
A& 160,000
MEFH MBI AT 2 (2 1) 88,000 88,000 0
= 60,000
< 28,000
308 AXIEHHSOIA 88,000 88,000 0
= 60,000
< 28,000
01 HIXNHHNBMNELS 88,000 88,000 0
OEMES AL 88,000
= 60,000
< 28,000
O ESS P 2A2HH 2Y(=1) 480,000 480,000 0
= 144,000
< 336,000
307 glz2+ol & 480,000 480,000 0
= 144,000
< 336,000
02 QIZtE M AHEE 480,000 480,000 0
O0fs= X 2eldly 29 480,000
= 144,000
< 336,000
o s - 24l8 25 280,000 400,000 120,000
308 MtXIEHSOIH 280,000 400,000 A 120,000
01 X HHIBLEXS 280,000 400,000 A 120,000
OOM== T4 K& 280,000
DISHYR MEfWStE HMA(=2) 600,000 600,000 0
= 500,000
< 100,000
308 AHAIEHHSOIA 600,000 600,000 0
= 500,000
< 100,000
01 HIXNHHNBMNELS 600,000 600,000 0
oolsd g &3 HIZ WA 600,000
= 500,000
< 100,000
MEfH W M2 X AL (=21) 288,000 96,000 192,000
= 240,000
< 48,000
308 XXM SOl A 288,000 96,000 192,000
= 240,000
< 48,000
01 AXHHBILEES 288,000 96,000 192,000




SN B
Hu: NoEREH
& Otds - A2 ES 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OME i wWetE MAH X 288,000
= 240,000
< 48,000
MAXABMIZ2XA(=21) 44,000 44,000 0
= 30,000
= 14,000
308 XXM SOIA 44,000 44,000 0
= 30,000
< 14,000
01 X HHBILEES 44,000 44,000 0
OMAXIQAEE I 2K & 44,000
= 30,000
< 14,000
osdEdas 25 48,800 48,800 0
AAAZARN 28 - 22 48,800 48,800 0
308 XXl EHH SOl A 48,800 48,800 0
01 X HHILEES 48,800 48,800 0
OsZd%"9d NAFAX 2l 48,800
HHZBA 88 2l 384,800 547,500 A 162,700
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